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If apov arose regarding the 2y»y after it has been placed, for
example, an 2y»y that is nmyn might have become xnv, and it is
not known what the status was mwnwinl}a, the 27y iswo asthe
2y had a mawslhin when it was placed. However, if the pao

Is due to thefact that he is unsure whether he placed it or not,
thus there is no mwalhin of the 2y y, then the 2yvy is not wo.

If a person said, “today this loaf of bread is regular and
tomorrow (nav) it iswvy1p”, and the loaf is used for an 2y»y, the

17y iswa asthe nwytp is not in effect until after mwnwnlpa. If
however, the person says that today it is wmp and tomorrow it is
51, being as how the bread was w1y during mwnwnli»a, the
2Py IS Not 9vwo.

A person may place two y2yvy and make a»on, “that if | need
to go west, then the 2y»y placed in the west is valid (thus giving
him 2000 nwx to travel from) and the 2yv»y in the east is nothing
(or viceversa), and if both yay»y are not needed, than | am like
the rest of the city (i.e., 2000 mnx in each direction)”.



